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1. The length of latus rectum of an ellipse is equal to

the length of its semi-minor axis . The ratio of

lengths of its minor axis and major axis is _


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_aNR1gEZXbEOy

D.4

Answer: A

° Watch Video Solution

2.If a circle is concentric with the circle 2 + y? = 8
and its diameter is 4 units , which of the following

will be the equation of the circle ?


https://dl.doubtnut.com/l/_aNR1gEZXbEOy
https://dl.doubtnut.com/l/_kq6KriPlVgrB

A.w2—|—y2:1

B.a:2+y2 =2

Cz?+y°=4

D.z? + y* = 16
Answer: C

° Watch Video Solution

3. If the distance foa moving point from the point
(2,0) is equal to the distance of the moving point
from y-axis, then the equation of the locus of the

moving point is



https://dl.doubtnut.com/l/_kq6KriPlVgrB
https://dl.doubtnut.com/l/_RpYWidJHYFJm

‘ ° Watch Video Solution

4.The equation of the straight line parallel to y - axis

and passing through the point (-3,4 ) is .

° Watch Video Solution

5.The sides of the rectangle ABCD are parallel to the
coordinate axes. If the coordinates of the vertices B
and D be (73) and (2,6) respectively , find the

coordinates of the vertices A and C.

° Watch Video Solution



https://dl.doubtnut.com/l/_RpYWidJHYFJm
https://dl.doubtnut.com/l/_HBVOHbvcoD0j
https://dl.doubtnut.com/l/_lPP6AZA2rjmo

6. Find the area of the triangle formed by the
straight line z sina + ycos @ = p with the axes of

coordinates .

o Watch Video Solution

7.Find the radius of the circle passing through (6,0),

(0,8) and origin .

° Watch Video Solution

8. The vertices of a triangle ABC are (2,-5) , (1,-2) and

(4,7) respectively . Find the coordinates of the point


https://dl.doubtnut.com/l/_y1gx1xh4B8ST
https://dl.doubtnut.com/l/_eKeuQ2N4AOTJ
https://dl.doubtnut.com/l/_xEZdzPEDelYI

where the internal bisector of ZABC cuts AC.

° Watch Video Solution

9. Find the equation of the straight line which
passes through the intersection of the straght lines
2x + 3y = 5 and 3x + 5y = 7 and makes equal positive

intercepts upon the coordinate axes .

o Watch Video Solution

10. Show that the circle with the portion of the line

3x + 4y = 12 intercepted between the axes as


https://dl.doubtnut.com/l/_xEZdzPEDelYI
https://dl.doubtnut.com/l/_d6ZQScVpCRgF
https://dl.doubtnut.com/l/_wZOhR4qvDGKV

diameter , passes through the origin .

° Watch Video Solution

11. A point P is moving in a cartesian plane in such a
way that the area of the rectangle formed by the
lines through P parallel to the coordinate axes
together with ccordinate axes is constant. Find the

equation of the locus of P.

o Watch Video Solution



https://dl.doubtnut.com/l/_wZOhR4qvDGKV
https://dl.doubtnut.com/l/_uyKadakmkghw

12. The parabola y? = — 4ax passes through the
point (-1,2) . Find the coordinates of its focus and

length of latus rectum.

o Watch Video Solution

13. Let P be a point on the circle z? + y? = a?

whose ordinate is PN and Q is a point on PN such
that PN : QN =2 : 1. Find the locus of Q and identify

it

° Watch Video Solution



https://dl.doubtnut.com/l/_UuCPLaMPPHJx
https://dl.doubtnut.com/l/_MqGoOl94fHGu

14. If athe coordinates of one end of a focal chord of

the parabola y? = 4azx be (at2, 2at) , show that the
. : a 2a
coordinates of the other end point are (t—z, T)

2
1
and the length of the chord is a(t + ?>

o Watch Video Solution

22 yz
15. Find the foii of the conic + — 1. Hence

100 36

show that , the sum of the distances from any point

on the conic to its focii is 20 units .

o Watch Video Solution



https://dl.doubtnut.com/l/_sSpf0LRh7b1m
https://dl.doubtnut.com/l/_bDR6KMzboASK
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1. The point (8,4) lies inside the parabola y2 = 4ax If

%
Q
IA

N~ N~ N~ N

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_y3d3bS5rTlr1
https://dl.doubtnut.com/l/_4yYRSGDipfs3

2. If t is parameter then the locus of the point
Plt L)

) 57 | IS

A.circle

B. ellipse

C. hyperbola

D. parabola

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_4yYRSGDipfs3

3. The distance between the straight lines 4x - 3y +

10=0and 4x-3y-10=0is

A.O

B. 20

C. 4

D.8

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_IXTcFcUS9NBX

4.0ne end of a diameter of the circle z° + y* = 2 is

(1,-1) . Then coordinates of its other end is

o Watch Video Solution

5. Find the ratio in which the point (-11,16) divides the

line segment joining the points (-1,2) and (4,-5) .

o Watch Video Solution

6. Show that the line 2+ m)x+(3+2m)y-2(2 +
3m ) = 0 passes through a fixed point for all valuse of

the parameter m . Find the coordinates of the point.


https://dl.doubtnut.com/l/_IhWGdaZ0DT7t
https://dl.doubtnut.com/l/_fPXqUQpi1u7z
https://dl.doubtnut.com/l/_7xzzBP4OPS4e

o Watch Video Solution

7. Find the centre of the circle whose parametric

equations are
1 1 .
r= — 5(1 + 5cos0),y = 5( — 2+ 5sinf) .

° Watch Video Solution

8. The extremities of the base of an isosceles
triangle have coordinates (2a , 0) and (0,a) . If the
equation of one of the equal sides be x = 2a, find the
equation of the other equal side and the area of the

triangle .


https://dl.doubtnut.com/l/_7xzzBP4OPS4e
https://dl.doubtnut.com/l/_tReJkdG70XK3
https://dl.doubtnut.com/l/_7XxjwSaHXGpc

o Watch Video Solution

9. The locus represented by z cosa + ysina = 4
cuts the coordinate axes at A and B . Find the locus

of the midpoint of AB . (« is a parameter)

° Watch Video Solution

10. A circle through the common points of the circles
2>+ 9y — 2 —4dy+1=0 and
z? 4+ y> — 2z — 6y + 1 = 0 has its centre on the
line 4x - 7y - 19 = 0 . Find the centre and radius of the

circle .


https://dl.doubtnut.com/l/_7XxjwSaHXGpc
https://dl.doubtnut.com/l/_K3x2qjXJXMFM
https://dl.doubtnut.com/l/_L9622bXHO0RG

° Watch Video Solution

11. Find the ratio of the eccentricities of the

hyperbolas 222 — 3y* = 1and 3z% — 2y° = 1
yp

° Watch Video Solution

12. The coordinates of the foci of an ellipse are
(0, = 4) and the equations of its directrices are
y = 1 9.Find the length of the latus rectum of the

ellipse

° Watch Video Solution



https://dl.doubtnut.com/l/_L9622bXHO0RG
https://dl.doubtnut.com/l/_0Dy9swiJ5gfH
https://dl.doubtnut.com/l/_itNhecWHfuZX

13. Find the equations of the parabola whose focus
is (5,3) and vertex is (5,7) . Find also the equation of

its directrix .

° Watch Video Solution

14. Prove that the straight line joining the upper end
of one latus rectum and lower end of other latus
rectum of an ellipse passes through the centre of

the ellipse..

° Watch Video Solution



https://dl.doubtnut.com/l/_Rl3xqv9D2n2C
https://dl.doubtnut.com/l/_ZqqakAYwPmps

2 2
15. The four foci of the hyperbola — — vy o_ 1 and

a? b2

its conjugate are joined to form a parallelogram.

Find the area of the parallelogram .

° Watch Video Solution
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1. The equation of the circle having centre at (3,7)

and radius 5 units is _

Az?+y?—6z—14y+33=0

B.z% 4+ y? — 6z — 14y = 33


https://dl.doubtnut.com/l/_4SGa6X0VpR4G
https://dl.doubtnut.com/l/_bO7nKDaSf5fH

C.z? +y* + 6z + 14y = 33

D.z2 + 3% + 6z + 14y + 33 = 0

Answer: A

° Watch Video Solution

2. The distance between z - axis and (3,4) is

A. 5 unit

B. 6 unit

C.7 unit

D. none ot these


https://dl.doubtnut.com/l/_bO7nKDaSf5fH
https://dl.doubtnut.com/l/_EfQPGmxvWLaN

Answer: A

° Watch Video Solution

3. The equation of the parabola with vertex at the

origin and directix is y = 2 is-

Ay = 8z
B.y2 = — 8
C.z? = 8y
D.z? = — 8y
Answer: D



https://dl.doubtnut.com/l/_EfQPGmxvWLaN
https://dl.doubtnut.com/l/_DyosqsvEYJr9

| QJ Watch Video Solution

4, The eccentricity of the hyperbola

922 — 4y®> + 36 = 0is

° Watch Video Solution

5. Find the area of the triangle formed by the staight

line 2x - 3y = 6 with the coordinate axes .

° Watch Video Solution



https://dl.doubtnut.com/l/_DyosqsvEYJr9
https://dl.doubtnut.com/l/_LMJJO7FmXw5d
https://dl.doubtnut.com/l/_sbU0i74pehFs

6. Find the coordinates of the point which divides
the line segment joining (2,-3,8) and (1,-1,0) internally

in theratio 2:1

° Watch Video Solution

7.The equations of two sides of a square are 5x + 12
y-10=0 and 5x + 12 y + 29 = O and the third side
passes through (3,5) , find equations of all other

possible sides of the squate.

° Watch Video Solution



https://dl.doubtnut.com/l/_aPTDY6ozNKi7
https://dl.doubtnut.com/l/_TsiuSELFmRzD

8. If the straight line z + % = 1 is parallel to the
a

line 4x + 3y = 6 and passes through the point of

intersection of the lines 2x-y-1=0and 3x-4y + 6 =

0 ,find the values ofaand b .

° Watch Video Solution

9. Find the equations of the circles which pass
through the origin and cut off equal chords of

length /2 units on the straight lines y =x and y = - x

o Watch Video Solution



https://dl.doubtnut.com/l/_9h4skfPctDIw
https://dl.doubtnut.com/l/_faDaXuaSDcnk

10. Prove that the least focal chord of a parabola is

its latus rectum.

o Watch Video Solution

11. Find the equation of the hyperboth whose axes
are the axes of coordinates and

vertices are ( £ 4,0) and foci are ( = 6,0).

° Watch Video Solution

12. Find the equation of an ellipse whose eccentricity

1

is 7 coordinates of one of its foci is (2,0) and


https://dl.doubtnut.com/l/_n14ZgQNlm4js
https://dl.doubtnut.com/l/_0GUYPT4sz6nE
https://dl.doubtnut.com/l/_D4xAulcg5lfv

equation of its corresponding directrix is x -8 =0 .
Also find out the distance of this focus from its

nearest vertex .

° Watch Video Solution

13. What is the eccentricity of the ellipse

2y
— + -5 = lif length of its minor axis is equal to

b2

the distance between its foci ?

o Watch Video Solution



https://dl.doubtnut.com/l/_D4xAulcg5lfv
https://dl.doubtnut.com/l/_m3Xhy5ebn0Er

14. Find the vertex of the parabola

y= — 222+ 12z — 17.

o Watch Video Solution

1
15. The eccentricity of an ellipse is —, the

V3
coordinates of focus is (-2,]) and the point of
intersection of the major axis and the directrix is

(-2,3) . Find the coordinates of the centre of the

ellipse and also equation of the ellipse..

o Watch Video Solution



https://dl.doubtnut.com/l/_mONBCHA6MXCo
https://dl.doubtnut.com/l/_2JS7d7Hzasco
https://dl.doubtnut.com/l/_zBlgJthbfuWL

16. The slope of a chord of the parabola y* = 4z is 2
. Show that the locus of the point which divides the

chord internally in the ration 1: 2 is a parabola

- 8\* 4 2
whose equation is ¥y—9) =9l 9)

° View Text Solution
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1. The angle made by the straight Iline

x cos o + ysina = p with the negative direction of

X - axis is _


https://dl.doubtnut.com/l/_zBlgJthbfuWL
https://dl.doubtnut.com/l/_h9KsBRFy1TL8

Answer: D

° Watch Video Solution

2. The distance of the point (a, b, c) from xy - plane



https://dl.doubtnut.com/l/_h9KsBRFy1TL8
https://dl.doubtnut.com/l/_WPqf2tDrmXit

C.b

Answer: D

° Watch Video Solution

3.Find the focus of the parabolay = z? + = + 1.

° Watch Video Solution

4. Determine the equation of the straight line

through the point (2,3) which divides the portion of


https://dl.doubtnut.com/l/_WPqf2tDrmXit
https://dl.doubtnut.com/l/_XwDlOhC80p4h
https://dl.doubtnut.com/l/_ttjnwuJLcT3o

the line segment between the axes in the ratio 2: 1.

° Watch Video Solution

5. A moving straight line always passes through a
fixed point (a, 8) . Prove that the locus of the

middle point of the portion of the line intercepted

a f

between the axesis — + — = 2.
L (]

o Watch Video Solution

6. Find equation of all possible circle that touch the

y -axis at the point (0,3) and cut out the chord of


https://dl.doubtnut.com/l/_ttjnwuJLcT3o
https://dl.doubtnut.com/l/_13TDbVujr42r
https://dl.doubtnut.com/l/_xTp4AegvSw7y

length 8 unit from the x - axis .

° Watch Video Solution

7.Aray of light along the line x- 2y + 5 =0 is reflected
from the line 3x - 2y + 7= 0. Find the equation of the

line containing the reflected ray .

° Watch Video Solution

8. Find the coordinates of vertices of a unit cube
where the three concrrent edges are the coordinte

axes .

| e |


https://dl.doubtnut.com/l/_xTp4AegvSw7y
https://dl.doubtnut.com/l/_2IPACx2k244D
https://dl.doubtnut.com/l/_7AKaW9T5Usjb

l & Watch Video Solution

9. The equation of the axis and directrix of a
parabola are y -3 =0 and x + 3 = O respectively and
the length of the latus rectum is 8 units . Find the
equation of the parabola and the coordinate of its

vertex .

o Watch Video Solution

10. The equation of the directrix of a hyperbola x -y
+3 =0.0ne of its focus is at (-1,1) and eccentricity is

3. Find the equation of the hyperbola .



https://dl.doubtnut.com/l/_7AKaW9T5Usjb
https://dl.doubtnut.com/l/_ZkOHNA1eExYF
https://dl.doubtnut.com/l/_47aJ0n8hMV6E

| @Y Watch Video Solution

Wbhs Archive 2016

1.If (A, 1 4+ X) be lying inside the circle z° + y* = 1,

then-
A= L
R 2
B.A<O
C-1<A<O0
D.A >0

Answer: C



https://dl.doubtnut.com/l/_47aJ0n8hMV6E
https://dl.doubtnut.com/l/_bi4OispT7Zgi

| o Watch Video Solution

2. The distance between the points A(5,1,2) and B
(4,6,-1)is

A. /35 units

B. /53 units

C. /5 units

D. 1/3 units

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_bi4OispT7Zgi
https://dl.doubtnut.com/l/_fjv8FYZ9fU8s
https://dl.doubtnut.com/l/_N2SnBr6BNxKn

3.1f the points A(2, 3, 3), B(a, —5,1)and C (-1, M

,9) are collinear , then

Aa=3
B.S =3
Ca= —1
D.B= —1
Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_N2SnBr6BNxKn

4.Find the locus of the mid - point of the portion of
the line x cosa + ysina = 4 intercepted between

the axes of coordinates .

o Watch Video Solution

5. If the coordinates of a point lies on the ellipse
3v/3
922 + 16y = 144 be (2, %) , find the eccentric

angle of that point.

° Watch Video Solution



https://dl.doubtnut.com/l/_TmO1AwxalpeX
https://dl.doubtnut.com/l/_3hAdgf3C2Qqw

6. Two sides of a square have the equations 5x + 12 'y
=10 and 5x + 12y + 29 = 0 and the third side passes
through the point (3,5) . Find the equations of the

other two sides of the square.

° Watch Video Solution

7.Find the equation of the circle passes through the
points (4,3) and (-2, 5) and whose centre lies on the

line 2x -3y =4

° Watch Video Solution



https://dl.doubtnut.com/l/_TNj00jKYTbAh
https://dl.doubtnut.com/l/_85vdaXDULQUP

8. Show that the area of the triangle formed by the

straight lines y = myjx + ¢, y = mox + ¢y and x =

2

Ois — sq . Units .

o Watch Video Solution

9.Find the vlaue of cos B for the triangle formed by
joining the points A (6,]1,2),B(1,-1,2)and C(1,2,

6).

° Watch Video Solution



https://dl.doubtnut.com/l/_zMrLBdWcaLXW
https://dl.doubtnut.com/l/_XTIG89FKUCDH

10. If the extremities of a focal chord of the parabola
y* = 4az be (at?, 2at,) and (at2, 2at,) , show that

tltg = —1

o Watch Video Solution

1. If S and S' are the foci and P be any point on the

hyperbola z? — y? = a? : prove that
SP.S'P = CP?, where C is the centre of the

hyperbola .

° Watch Video Solution



https://dl.doubtnut.com/l/_NZMeJUihMj2j
https://dl.doubtnut.com/l/_bbI5mZkJUu97
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1. If the equation
az’® + 2hxy + by® + 2g¢ + 2fy + ¢ = 0 represents

a pair of parallel lines, prove that

a_h_yg
h b f

A1

B.2

C.3

D.4
Answer: D



https://dl.doubtnut.com/l/_79F34sZdhQDv

| W Watch Video Solution

2. If the circles z* + y* + 2z + 2ky+ 6 = 0 and
z? +y* +2ky+k =0 intersect orthogonally |,

then k is equal to _
A 2 5
20or — o
B. —2 5
20 — g
3
C.2 or =

2

D. —2 5
-2 o0r 5

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_79F34sZdhQDv
https://dl.doubtnut.com/l/_mdF8nhxnqQ29

3. The line joining A(bcosabsina) and
B(acos 8, asinf) , where a # b, is produced to

the point M(x , y) so that AM : BM =b : a . Then

atp + sina+ﬂ
2 Y 2

ZCOoS is equal to _

A.O

B.1

D.a? + b?

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_mdF8nhxnqQ29
https://dl.doubtnut.com/l/_tEWTHqsl5WxD

4.If four distinct points (2k, 3k),(2,0) ,(0,3) and (O

, 0) lie on a circle then _

Ak<O

BO< k<1

Ck=1

D.k > 1

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_40dj2J1GXWdf

2
x
5. Let the foci of the ellipse 9 + y? = 1 subtend a

right angle at a point P. Then the locus of P is _

Az +y* =1
B.ar:2+y2 = 2
Cz’+y’ =4
D.z° +y* =8
Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_JLUfir8g3I9V

6. Let P (2, -3), Q (2, 1) be the vertices of the

triangle PQR . If the centroid of APQR lies on the

line 2x + 3y =1, then the locus of Ris _

A.2x+3y=9

B.2x-3y=7

C.3x+2y=5

D.3x-2y=5

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_FU6V8TIocx7o

7.Let P be the midpoint of a chord joining the vertex
of the parabola y? = 8z to another point on it .

Then locus of P.

Ay =2z
B.y? = 4x
2
L 2
C. — =1
g Y
2
Yy
D.z2 4+ - =1
a:—|—4
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_OYbrodUGm6Ia

2
x
8.The line x =2 y intersects the ellipse e +yi=1

at the points P and Q . The equation of the circle

with pq as diameter is _

1
Azl 4y’ ==
" +y 5
B.z? +y° =1
C.w2+y2:2

5
D.z* +y* = —
"ty 5

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_H0SONNdEF6nt

9. The eccentric angle in the first quadrant of a point

2 2

on the ellipse 0 + <= 1 at a distance 3 units

from the centre of the ellipse is _

N[N WY A3 o]

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_qm0A8rdrOQaB

10. The transverse axis of a hyperbola is along the x -
axis and its length is 2a . The vertex of the hyperbola
bisects the line segment joining the centre and the
focus. The equation of the hyperbola is _

A. 622 — y2 = 3a*

B.z? — 3y* = 3a’

C.z° — 6y = 3a’

D. 3z — y2 = 3a?

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_E2Q1pCwUbO96
https://dl.doubtnut.com/l/_JziD9pprOPkz

11. A point moves in such a way that the difference of

its distances from two points (8,0) and (-8,0) always

remains 4 . Then the locus of the point is _

A. a circle

B. a parabola

C. an ellipse

D. a hyperbola

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_JziD9pprOPkz

12. The number of integer values of m. for which the

x - coordinate of the point of intersection of the

lines 3x + 4y =9 and y = mx + 1is also an interger is

A0

B.2

C.4

D.1

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_eMptbay9hL7S

13.If a straight line passes through the point («, 8)
and the portion of the line intercepted between the
axes is divided equally at that point , then - + E

is

A.O
B.1
C.2

D.4

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_qgEu8NGgf0B1
https://dl.doubtnut.com/l/_rLvhxM6GlGiO

14.Let p, q,r be the altiudes of triangles with area s

1 1 1
and perimeter 2 t . Then the value of — + — 4+ —is

p q r

w| e+~ | ®

R o

2s

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_rLvhxM6GlGiO

15. Let C; and C5 denote the centres of the circles
2 2 _ 2 2 _ .

‘- +y° =4 and (z —2)" +y* =1 respectively
and let P and Q be their points of intersection. Then
the areas of triangles C; PQ and CyP( are in the
ratio _

A3:1

B.5:1

C.7:1

D.9:1

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_aY3M1rEPtgA9

16. A straight line through the point of intersection
of the lines x + 2y = 4 and 2 x + y = 4 meets the
coordinate axes at A and B .the locus of the

midpoint of AB is _

A3(x+y)=2xy

B.2(x+y)=3xy

C.2(x+y)=xy
D.x +y=3xy
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_aY3M1rEPtgA9
https://dl.doubtnut.com/l/_CSwmMhNems31

17. Let P and Q be the points on the prabola y* = 4z
so that the line segment PQ subtends right at the
vertex . If PQ intersects the axis of the parabola at R,
then the distance of the vertex from R is _

A1l

B.2

C.4

D.6

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_CSwmMhNems31
https://dl.doubtnut.com/l/_G3qJlQHrvx5n

18. The incentre of an equilateral triangle is (1,1) and
the equation of one side is 3x + 4y + 3 = 0. Then the
equation of the circumcircle of the triangle is
Azl+y’ = —2c—2y—2=0
Bzl +y? -2z —2y—14 =0
Ca?+y’—22—-2y+2=0

D.z’+y? — 2z —2y+14 =0

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_G3qJlQHrvx5n
https://dl.doubtnut.com/l/_pBOqOKlGQkuT

Whbjee Archive 2013

1.A point P lies on the circle 2% + 3* = 169.1f Q = (5

,12) and R =(-12, 5) , then the angle ZQPR is _

0 @ >

o
N[N w3y A3 o)

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_CRMDxfC6dSj1
https://dl.doubtnut.com/l/_EcxCW6ToPm5c

2. A circle passing through (0,0), (2 6) , (6 ,2) cuts the
x axis at the point P # (0,0) . Then the length of OP

, where O is origin is _

>

@
U <|| no | ot
ot
X

D.10

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_EcxCW6ToPm5c

3. The locus of the midpoints of the chords of an
ellipse z? + 4y*> = 4 that are drawn forms the

positive end of the minor axis is

1
A. a circle with centre (5’ O),and radius 1

1
B. a parabola with focus (5, O), and directrix x

=-1

1
C.an ellipse with centre (O, 5) , major axis 1

1
and minor axis 5

1
D.a hyperbola with centre (O, 5) , transverse

1

axis 1and conjugate axis 2


https://dl.doubtnut.com/l/_NqUEJ4u8F3hh

Answer:

o Watch Video Solution

4. A point moves so that the sum of squares of its
distances from the points (1,2) and (-2,1) is always 6 .

Then its locus is _

3 1
A. the straight line y — 5= = 3(;1; i 5)

1 3
B.a circle with centre (— bX 5) and radius

1

2

C. a parabol with focus (1,2) and directrix passing

through (-2, 1)


https://dl.doubtnut.com/l/_NqUEJ4u8F3hh
https://dl.doubtnut.com/l/_p7VO7rHQNt4O

D. an ellipse with foci (1,2) and (-2, 1)

Answer: B

o Watch Video Solution

5. For the variable t , the locus of the points of
intersection of lines x-2y=tand = 4 2y = 7 is

A. the straight line x =y

B. the circle with centre at the origin and radius 1

C.the ellipse with centre at the origin and one

2
focus | —, 0
V2


https://dl.doubtnut.com/l/_p7VO7rHQNt4O
https://dl.doubtnut.com/l/_w9TUNtTGXBpa

D.the hyperbola with centre at the origin and

5
one focus (%, O>

Answer: D

o Watch Video Solution

6. If the distance between the foci of an ellipse is
equal to the length of the latus rectum, then its

eccentricity is _

(VE-1)
(VB +1)

l\3|r—\ .-l>|r—l


https://dl.doubtnut.com/l/_w9TUNtTGXBpa
https://dl.doubtnut.com/l/_Y17EVpwawQ3B

5 (V5 1)

.-lklr—\ 1\3|

(v5+1)

Answer: C

o Watch Video Solution

7. For the variable t, the locus of the point of
intersection of the lines 3 tx - 2y + 6t = 0 and 3x + 2ty
-6=01is _

2
, L Y
A. the ell — + —
e ellipse 1 + 9
2 yz

x
B. the elli — + —=—=1
e ellipse 9 + 1


https://dl.doubtnut.com/l/_Y17EVpwawQ3B
https://dl.doubtnut.com/l/_ejlqPGNiA6Lx

2 y?

C.theh bola — — — =1
e hyperbola — g
.’132 y2

D.the h bola — — — =1
e hyperbola —5 1

Answer: A

o Watch Video Solution

8.Ifa,b,carein A.P . then the straight line ax + 2
by + ¢ = 0 will always pass through a fixed point

whose coordinates are _

A (1, — 1)

B.(—1,1)


https://dl.doubtnut.com/l/_ejlqPGNiA6Lx
https://dl.doubtnut.com/l/_SdRhBOI9O8X1

Answer: A

° Watch Video Solution

9. If one end of a diameter of the circle
322 4+3y2 — 92 +6y+5=0 is (1 ;2) then the

otherend is _


https://dl.doubtnut.com/l/_SdRhBOI9O8X1
https://dl.doubtnut.com/l/_FJMZ6Z2yAwW9

Answer: C

° Watch Video Solution

10. the equation 2x% + dry — 12y2 = 0 represents

A. circle
B. pair of non-perpendicular intersecting straight

lines


https://dl.doubtnut.com/l/_FJMZ6Z2yAwW9
https://dl.doubtnut.com/l/_fh6Cm9r6o7Nq

C. pair of perpendicular straight lines

D. hyperbola

Answer: B

o Watch Video Solution

M. The line y = x intersects the hyperbola

w2y
?_%:1 at the points P and Q . The

eccentricity of ellipse with PQ as major axis and

minor axis of length — is
ﬁ —_

A V5
3


https://dl.doubtnut.com/l/_fh6Cm9r6o7Nq
https://dl.doubtnut.com/l/_jjovxw61WwRH

B.
C.
D.

5
V3
24/2
3
25
9

Answer:

° Watch Video Solution

12. The equation of the circle passing through the
point (1 , 1) and the points of intersection of

w2+y2—6w—8:0anda:2—|—y2—6:Ois_

Az +y*+3z—-5=0


https://dl.doubtnut.com/l/_jjovxw61WwRH
https://dl.doubtnut.com/l/_CS0KdksPunO8

Bzl +y? —4dz+2=0
Cz’+y>+6z—4=0

D.z’ + 9> —4y—2=0

Answer: A

° Watch Video Solution

13. The number of lines which pass through the
point (2, -3) and are at distance 8 from the point (-1,

2)is

A. infinite


https://dl.doubtnut.com/l/_CS0KdksPunO8
https://dl.doubtnut.com/l/_WM0m9Aw3X6h4

B.4

C.2

D.O

Answer: D

° Watch Video Solution

14. Let P be a point on the parabola y? = 4az with

focus F . Let Q denote the foot of the perpendicular

tan/PQF

from P onto the directrix . Then IS
tan/PFQ -

A1l


https://dl.doubtnut.com/l/_WM0m9Aw3X6h4
https://dl.doubtnut.com/l/_DTqBqWBEqLFT

Answer: A

° Watch Video Solution

15. The equations of the circles which touch both the
axes and the line 4 x + 3y = 12 and have centres in

the first quadrant are _

Azl+y —z—y+1=0


https://dl.doubtnut.com/l/_DTqBqWBEqLFT
https://dl.doubtnut.com/l/_Ysm3R1mwAsRY

Bz’ +¢y? -2z —2y+1=0
Cal+y?—122 —12y+36=0

D.z2 + y? — 6z — 6y + 36 = 0

Answer: A::B::C::D

o Watch Video Solution

16. Lines x + y =1 and 3y = x + 3 intersect the ellipse
z? + 9y2 = 9 at the points P, Q, R . The area of the

triangle PQR is _

A36
"5


https://dl.doubtnut.com/l/_Ysm3R1mwAsRY
https://dl.doubtnut.com/l/_LWKH4swDAcZl

) @

=
O = O © =
| © o5

Answer: B

° Watch Video Solution

17. A line passing through the point of intersection

3
of x +y=4 and x - y = 2 makes and angle tan_lz

with the x - axis . It intersects the parabola

y* = 4(x —3) at points (z1,91) and (z3,s)

respectively . then |z; — 5| is equal to _


https://dl.doubtnut.com/l/_LWKH4swDAcZl
https://dl.doubtnut.com/l/_DkgtxvwKsyt3

Answer: B

° Watch Video Solution

Whbjee Archive 2014

2 2

: : L
1. Let the equation of an ellipse be T + o5 — 1.

Then the radius of the circle with centre (O, \/5)



https://dl.doubtnut.com/l/_DkgtxvwKsyt3
https://dl.doubtnut.com/l/_E1QIf2liSFeH

and passing through the foci of the ellipse is _

A.9
B.7
C. 1

D.5

Answer: C

° Watch Video Solution

2. The values of A for which the curve
(7Tz +5)° + (Ty + 3)* = X2(4z + 3y — 24)°

represents a parabola is _


https://dl.doubtnut.com/l/_E1QIf2liSFeH
https://dl.doubtnut.com/l/_xbtPwsBjTVox

N ow® »
e

o
|_|_
oo ok o oo

Answer: B

o Watch Video Solution

3.The straight linesx+y=0,5x+y=4and x + 5y =

4 form _

A. an isosceles triangle


https://dl.doubtnut.com/l/_xbtPwsBjTVox
https://dl.doubtnut.com/l/_qefMO1cyJRhf

B. an equilateral triangle

C.a scalene triangle

D. a right angled triangle

Answer: A

° Watch Video Solution

4. The equation of hyperbola whose coordinates of
the foci are ( + 8, 0) and the length of latus rectum

is 24 units is _

A 3z —y? =48


https://dl.doubtnut.com/l/_qefMO1cyJRhf
https://dl.doubtnut.com/l/_f5FMuZ6JMsZn

B.42% — ¢% = 48
C.z% — 3y® = 48

D.z% — 4y* = 48

Answer: A

° Watch Video Solution

5. If the circle 22 4+ y% + 29z + 2fy + ¢ = 0, cuts
the three circles
> +9y* —5=02>+y* — 8 — 6y + 10 =0 and
z? +y? — 4z + 2y —2 =0 at the extremities of

their diameters , then _


https://dl.doubtnut.com/l/_f5FMuZ6JMsZn
https://dl.doubtnut.com/l/_fzOtcNf031Je

7

B. fg = 5%

Cg+2f=c+2

D.4f = 3¢

Answer: A::B::C::D

° Watch Video Solution

Whbjee Archive 2015

1. If the vertex of the conic y? — 4y = 4z — 4a

always lies between the straight lines x + y =3 and 2


https://dl.doubtnut.com/l/_fzOtcNf031Je
https://dl.doubtnut.com/l/_wY7co78hv9br

X +2y-1=0then

A2<a<i4

1
B.—§<CL<2

COoO<a<?2

1 3

D. — — -
5 <a<3

Answer: B

° Watch Video Solution

2. Number of points having distance /5 from the
straight line x - 2y + 1= 0 and a distance /13 from

theline2x+3y-1=0is _


https://dl.doubtnut.com/l/_wY7co78hv9br
https://dl.doubtnut.com/l/_LL1BmEi8xoag

Al

B.2

C.4

D.5

Answer: C

° Watch Video Solution

3. Number of intersecting points of the conic

42% + 9y* = 1 and 422 + =4is _

Al


https://dl.doubtnut.com/l/_LL1BmEi8xoag
https://dl.doubtnut.com/l/_mnqms7QhA72y

B.2

C.3

D. O (zero)

Answer: D

° Watch Video Solution

4, Let 1622 — 3y? — 32z + 12y = 44 represents a

hyperbola . Then _

A.length of the transverse axis is 2./3

32
B. length of each latus rectum is —

/3


https://dl.doubtnut.com/l/_mnqms7QhA72y
https://dl.doubtnut.com/l/_hi0HhkG0TCc8

oo 119
C. eccentricity is 3

v/19
D. equation of a directrixis £ = ——

Answer: A::B::C::D

o Watch Video Solution

5. The least positive value of t so that the lines
x=t+a,y+ 16 = 0 and y = ax are concurrent

is

A.2

B. 4


https://dl.doubtnut.com/l/_hi0HhkG0TCc8
https://dl.doubtnut.com/l/_Op3zTi7Tea2Q

C.16

D.8

Answer: D

° Watch Video Solution

Whbjee Archive 2016

1. The points

(—a, —b), (a2, ab), (a,b), (0,0),a #0,b#0

are always

A. collinear


https://dl.doubtnut.com/l/_Op3zTi7Tea2Q
https://dl.doubtnut.com/l/_Rww1TfG0sktm

B. vertices of a parallelogram

C. vertices of a rectangle

D. lie on a circle

Answer: A

° Watch Video Solution

2. The line AB cuts of equal intercepts 2a from the
axes . From any point P on the line AB perpendicular
PR and PS are drawn on the axes . Locus of midpoint

of RS is

a
A.a:—yza


https://dl.doubtnut.com/l/_Rww1TfG0sktm
https://dl.doubtnut.com/l/_i944zsOPdxgq

B.x+y=a
C.z2 + y? = 4a?

D.z% — y? = 2a”

Answer: B

° Watch Video Solution

x+8y—22=0,52+2y—34=0,2x —3y+ 13 =0
are three sides of a triangle. The area of the triangle

is

A. 36 square unit


https://dl.doubtnut.com/l/_i944zsOPdxgq
https://dl.doubtnut.com/l/_07JTR318nFK8

B. 19 square unit

C. 42 square unit

D. 72 square unit

Answer: B

° Watch Video Solution

4. The line through the points (a , b) and (-a , -b)

passes through the point

A (1,1)

B. (3a, — 2b)


https://dl.doubtnut.com/l/_07JTR318nFK8
https://dl.doubtnut.com/l/_oU2QCexhqpfO

C. (a2, ab)

D. (a, b)

Answer: C

° Watch Video Solution

5. The locus of the point of intersection of the

1
straight lines 2 + Y _ kand = — y_ - where
a b a b k

k is a non-zero real variable is given by

A. a straight by

B. an ellipse


https://dl.doubtnut.com/l/_oU2QCexhqpfO
https://dl.doubtnut.com/l/_SV6tKE9gprUu

C. a parabola

D. a hyperbola

Answer: D

o Watch Video Solution

6. The equations of a line parallel to the line 3 x + 4y
= 0 and touching the circle 2 + y? = 9 in the 1st
quardrant is

A 3x + 4y = 15

B.3z + 4y = 45


https://dl.doubtnut.com/l/_SV6tKE9gprUu
https://dl.doubtnut.com/l/_7zyDhiSY7tx7

C3x+4y=20

D.3x 4 4y = 27

Answer: A

o Watch Video Solution

7.Aline passing through the point of intersection of

3
x +y=4and x -y = 2 makes an angle tan " (Z)
with the x-axis . It intersects the parabola

y* = 4(z — 3) at points (z1,y) and (z2,y2)

respectively . Then |z, — z5| is equal to

L 16
"9


https://dl.doubtnut.com/l/_7zyDhiSY7tx7
https://dl.doubtnut.com/l/_kojJCt9XLsr6

Answer: B

o Watch Video Solution

8. The equation of auxiliary circle of the ellipse

1622 + 25y + 32z — 100y = 284 is

Az> 4y’ +2c—4y—20=0

B.z? +y? + 2z — 4y =0


https://dl.doubtnut.com/l/_kojJCt9XLsr6
https://dl.doubtnut.com/l/_eFYFgQKo0DEj

C.(z+1)"+ (y—2)° =400

D. (z1)® + (y — 2)® = 225

Answer:

o Watch Video Solution

9. If PQ is a double ordinate of the hyperbola

2 P
pol = 1 such that AOPQ is equilateral, O
a

being the centre. Then the eccentricity e satisfies

2
Al<e< —

/3

B.e =

2
V2


https://dl.doubtnut.com/l/_eFYFgQKo0DEj
https://dl.doubtnut.com/l/_3EG8Eu1T1VQv

V3

C.e =

2
2
D.e > —
3

Answer: D

o Watch Video Solution

10. If the vertex of the conic y? — 4y = 4z — 4a
always lies between the straight lines x + y=3 and 2

x+2y-1=0.Then

A2<a<4

1
B.—§<CL<2


https://dl.doubtnut.com/l/_3EG8Eu1T1VQv
https://dl.doubtnut.com/l/_olWpdwFFcKUp

COoO<a<?2

D 1 < < J
T S4S 5
Answer: B

o Watch Video Solution

11. Let S be the set of points whose abscissas and
ordinates are natural numbers . Let P € S such that
the sum of the distance of P from (8,0) and (0,12) is
minimum among all elements in S . Then the number

of such points Pin S'is

A1l


https://dl.doubtnut.com/l/_olWpdwFFcKUp
https://dl.doubtnut.com/l/_lHsUQz4lGhpx

B.3

C.5

D. 1

Answer: B

° Watch Video Solution

12. The locus of the midpoints of chords of the circle
z? + y? = 1 which subtends a right angle at the
origin is

1
Az’ +yl ==
" +y 1


https://dl.doubtnut.com/l/_lHsUQz4lGhpx
https://dl.doubtnut.com/l/_7LO1g51Me2ts

B.w2—|—y2 = =
Czy=20

D.z2 —u?> =0

Answer: B

° Watch Video Solution

13. The locus of the midpoints of all chords of the
parabola y®> = 4az through its vertex is another

parabola with directrix is


https://dl.doubtnut.com/l/_7LO1g51Me2ts
https://dl.doubtnut.com/l/_QXz4Yc1ZSW28

|

Answer: D

° Watch Video Solution

14. The equation -yl +z—y=0 represents

A. a hyperbola and two straight lines
B. a straight line

C. a parabola and two straight lines


https://dl.doubtnut.com/l/_QXz4Yc1ZSW28
https://dl.doubtnut.com/l/_TaDHedaUGcaJ

D. a straight line and a circle

Answer: B

o Watch Video Solution

15. The coordinates of a point on the linex+y+1=0
which is at a distance 1/2 units from the line 3x + 4y

-2=0 are

A (2, —3)


https://dl.doubtnut.com/l/_TaDHedaUGcaJ
https://dl.doubtnut.com/l/_diIjkq9PD0QI

D.—1,0)

Answer: A::B::D

o Watch Video Solution

16. If the parabola z° = ay makes an intercept of
length /40 unit on the liney -2 x =1, then a is

equal to

A1l


https://dl.doubtnut.com/l/_diIjkq9PD0QI
https://dl.doubtnut.com/l/_rvLV5XMM852l

D. 2

Answer: A::B::D

° Watch Video Solution

Jee Main Aieee Archive 2012

1. If the line 2x + y = k passes through the point

which divides the line segment joining the points

(1,J) and (2,4) in the ratio 3 : 2, then k equals _

A.6

B. —


https://dl.doubtnut.com/l/_rvLV5XMM852l
https://dl.doubtnut.com/l/_HE9HJMAFH2DJ

Answer: A

o Watch Video Solution

2. The length of the diameter of the circle which
touches the x - axis at the point (1,0) and passes

through the point (2,3) is _

o >
w|lot o o


https://dl.doubtnut.com/l/_HE9HJMAFH2DJ
https://dl.doubtnut.com/l/_twLSxTb1lwEK

10
C.

3
5 3
"5

Answer: A::B::D

o Watch Video Solution

3. An ellipse is drawn by taking a diameter of the
circle (z — 1)° + y% = 1 as its semi-minor axis and
a diameter of the the circle 22 + (y — 2)° = 4 as its
sem-major axis . If the centre of the ellipse is at the
origin and its axes are the coordinate axes , then the

equation of the ellipse is _


https://dl.doubtnut.com/l/_twLSxTb1lwEK
https://dl.doubtnut.com/l/_TmH9Egrs2Hy5

Adx?+y* =38

B.z2 + 4y = 16

Cdz’ +y> =4
D.z% +4y* =8
Answer: B

° Watch Video Solution

Jee Main Aieee Archive 2013

1. A ray of light along = + /3y = /3 gets reflected

upon reaching g x- axis , the equation of reflected


https://dl.doubtnut.com/l/_TmH9Egrs2Hy5
https://dl.doubtnut.com/l/_XUqkR8IhpFGx

ray is _

Ay==x+ /3

B..3y=2 — /3

Cy=+3z — /3

D.3y=z —1
Answer: B

° Watch Video Solution

2. The circle passing through (1, -2) and touching

the axis of x at (3, 0) also passes through the point _


https://dl.doubtnut.com/l/_XUqkR8IhpFGx
https://dl.doubtnut.com/l/_DRu1cdmiJWmv

B.(2, — 5)

C. (5, —2)

D.(—2,5)
Answer: C

° Watch Video Solution

3. The x - coordinate of the incentre of the triangle
that has the coordinates of midpoints of its sides as

(o,1),(1,1)and (1,0)is _


https://dl.doubtnut.com/l/_DRu1cdmiJWmv
https://dl.doubtnut.com/l/_b7e9KnSx9ab5

A2+ /2
B.2 — /2
C.1++/2
D.1—+/2

Answer: B

° Watch Video Solution

4. The equation of the circle passing through the

2

foci of the ellipse 1_6 + % = 1 and having centre

at (0,3)is _


https://dl.doubtnut.com/l/_b7e9KnSx9ab5
https://dl.doubtnut.com/l/_W0pjVocHyN3F

Az?+y>—6y—7=0
Bz’ +¢y>—6y+7=0
Cal+y’>—6y—5=0

D.z’ + 4> —6y+5=0

Answer: A

° Watch Video Solution

Jee Main Aieee Archive 2014

1. Let be the circle with centre at (1, 1) and radius is 1

unit . It T is the circle centred at (0, y) , passing


https://dl.doubtnut.com/l/_W0pjVocHyN3F
https://dl.doubtnut.com/l/_VxkqiyxvdpwR

through origin and touching the circle c externally ,

then the radius of T is equal to _

IR ]

Answer: D

o Watch Video Solution

2.Let a, b, cand d be nonzero number . If the point

of intersection of the lines 4ax + 2ay+c=0and 5 b


https://dl.doubtnut.com/l/_VxkqiyxvdpwR
https://dl.doubtnut.com/l/_pMhWcSJ8UsjF

X + 2 by + d = 0 lies in the fouth quadrant and is

egaidistant from the two axes , then _

A.2bc — 3ad = 0

B.2bc + 3ad = 0

C.3bc — 2ad =0

D.3bc + 2ad = 0

Answer: C

o Watch Video Solution

3. Let PS be the median of the triangle with vertices

P(2,2),0(6,-1) and R (7, 3) . The equationf o the


https://dl.doubtnut.com/l/_pMhWcSJ8UsjF
https://dl.doubtnut.com/l/_OWpO1stvWryQ

line passing through (1,-1) and parallel to Ps is _

Adx — 7y —11

B.2r +9y+7=0

Cldr +T7y+3=0

D.2x — 9y — 11 =0

Answer: B

° Watch Video Solution

Jee Main Aieee Archive 2015


https://dl.doubtnut.com/l/_OWpO1stvWryQ

1. Let O be the vertex and Q be any point on the
parabola z* = 8y . If the point P divides the line

segments OQ internally in the ratio 1: 3, then the

locus of Pis _
A y2 = 2z
B.z2 = 2y
C.z? = Y
D. y2 =

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_WlVupdYXOipr
https://dl.doubtnut.com/l/_spDbZ30lmfZW

2. The number of points, having both coordinates

are integers, that lie in the interior of the triangle

with vertices (0,0), (0,41) and (41, 0) is

A. 820

B. 780

C. 901

D. 861

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_spDbZ30lmfZW

3. Locus of the image of the point ( 2 ,3) in the line (

2x-3y+4)+k(x-2y+3)=0,k € Risa _

A. Circle of radius /2
B. circle of radius /3
C. straight line parallel to x-axis

D. straight line parallel to y - axis

Answer: A

° Watch Video Solution

Jee Main Aieee Archive 2016



https://dl.doubtnut.com/l/_HLvHvpt97WQZ

1. Two sides of a rhombus are along the lines x -y + 1
=0and 7 x-y-5=0.If its diagonals intersect at ( - 1,
-2) , then which one of the following is a vertex of

this rhombus ?

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Xtg0xQUN2p7f
https://dl.doubtnut.com/l/_rQXDPm98XXGw

2. The centres of those circles which touch the circle

2

2’ +y* —8 —8y—4=0 externally and also

touch the x - axis, lie on
A. a circle
B. an ellipse which in not a circle
C.a hyperbola

D. a parabola

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_rQXDPm98XXGw

3. In one of the diameters of the circle, given by the
equation z’ +y* —4x +6y—12=0, is a chord
of a circle S, whose center is at (-3 , 2) , then the

radius of S is

A.54/2
B.5¢/3
C.5

D.10

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_Nukao1WLPXuB
https://dl.doubtnut.com/l/_lyHtSe98pJEe

4. Let , P be the point on the parabola y* = 8z
which is at a minimum distance from the centre C of
the circle 22 + (y + 6)° = 1. Then the equation of
the circle, passing through C and having its centre

atPis

Azl +yP—4de+8y+12=0

Bzl +y —xz+4y—12=0

Wi

C.2 2
"ty 4

+2y—24=0

D.z? +y> — 4z + 9y +18 =0

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_lyHtSe98pJEe

5. The eccentricity of the hyperbola whose length of
the latus rectum is equal to 8 and the length of its

conjugate axis is equal to half of the distance

between its foci, is

© >
RS L

N

o

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_lyHtSe98pJEe
https://dl.doubtnut.com/l/_PUJhivA1XRiv

Jee Advanced Archive 2013

1. Circle (s) touching x - axis at a distance 3 from the
origin and having an intercept of length 24/7 on y -
axis is (are)

Az?+y?—6x+8y+9=0

B.al4+y? —6z+Ty+9=0

Cal+y>—6z—8y+9=0

D.z’ + 9> —6x —Ty+9 =0

Answer:



https://dl.doubtnut.com/l/_PUJhivA1XRiv
https://dl.doubtnut.com/l/_bnpnPJ63KSCW

| &¥ Watch Video Solution

Jee Advanced Archive 2014

1. A circle s passes through the point ( 0,1) and is
orthogonal to the circles (z — 1)* 4+ 3? = 16 and
z? + y?> = 1.Then

A.radius of Siis 8

B. radius of Sis 7

C.centerof Sis (7,1)

D.center ofsis(-8,1)


https://dl.doubtnut.com/l/_bnpnPJ63KSCW
https://dl.doubtnut.com/l/_gePxZcYB1oho

Answer: A::B::C::D

° Watch Video Solution

Jee Advanced Archive 2015

1. Let the curve C be the mirror image of the

parabola y? = 4z with respect to the linex+y+ 4 =
O If A and B are the points of intersection of C with

the liney=-5,then the distance between A and B is

o Watch Video Solution



https://dl.doubtnut.com/l/_gePxZcYB1oho
https://dl.doubtnut.com/l/_nCWefliChowM

2. Let P and Q be distinct points on the parabola
y* = 2z such that a circle with PQ as diameter
passes through the vertex O of the parabola . If P
lies in the first quadrant and the area of the triangle
OPQ is 3\/5 , then which of the following is (are) the

coordinates of P ?

A. (4,2V2)
B. (9, 3v/2)

)

2
D. (1, v/2)

Answer: A::D



https://dl.doubtnut.com/l/_kaTHgtR0NmZs

| ° Watch Video Solution

Jee Advanced Archive 2016

1. The circle C’lza;2 + y2 = 3, with centre at O ,

intersects the parabola z* = 2y at the point P in
the first quadrant . Let the tangent to the circle
C — (1) at P touches other two circles Cy and
CsatRy and Rj3 , respectively. suppose Cs and Cj
have equal radii 2,/3 and centres @, and Q3 ,

respectively . if Q5 and Q3 lie on the y-axis , then

A Q2Q3 = 12


https://dl.doubtnut.com/l/_kaTHgtR0NmZs
https://dl.doubtnut.com/l/_WIusttsWXShn

B. RyR; = 4,/6
C.area of the triangle ORy R3is6+/2

D. area of the triangle PQ,Q3is4+/2

Answer: A::B::C

o View Text Solution

2. Let , RS be the diameter of the circle z? + y2 =1,
where S is the point ( 1,0) . Let P be a variable point
(other then R and S ) on the circle and tangents to
the circle at s and P meet at the point Q . The normal

to the circle at P intersects a line drawn through Q


https://dl.doubtnut.com/l/_WIusttsWXShn
https://dl.doubtnut.com/l/_6QEzFoae3spg

parallel to RS at point E . The locus of E passes

through the point (s)

Answer: A::C::D

o Watch Video Solution



https://dl.doubtnut.com/l/_6QEzFoae3spg

3. Let a,beR and a®*+b*#0 . Suppose

SZ{ZE(C:z: ,tER,t;réO}wherel=

a + ibt
v—1.Ifz=x+iyand z € Sthen (x,y) lies on

1 1
A. The circle with radius — and center [ —, 0
2a 2a

fora > 0,b# 0

1
B. The circle with radius 5 and center
a

1

(— —,0) fora < 0b# 0
2a

C.the x-axis fora # 0,b = 0

D.they-axis fora = 0,b # 0

Answer: A::C::D

r.- Y



https://dl.doubtnut.com/l/_09PJ9bYP7u9r

{t ™ vvaldn video S501ution



https://dl.doubtnut.com/l/_09PJ9bYP7u9r

